HIGH COURT OF SINDH, KARACHI

FINANCIAL BID EVALUATION REPORT

Tender Description/Name of work/item: Supply & Installation of 296 New CCTV Cameras and allied accessories on already laid analog/ fiber cables 5 buildings/ blocks of High Court of Sindh, Karachi. Method of Procurement: Tender Single Stage Two Envelope Method Tender Published: Tender Published: Total Bid documents Sold; Nil (free of cost downloading) Total Bids Received: Technical Bid Opening date: (if applicable) No. of Bid technically qualified (if applicable): Bid(s) disqualified Three (03) Financial Bid Opening date: Whether Eligibility Criteria was mentioned in tender documents? Whether Eligibility Criteria was mentioned in tender document? Whether Bid Securities were obtained from all bidders? Whether the successful bid was lowest evaluated bid / best evaluated bid? Whether names of the bidders and their quoted prices were read out at the time of opening of bids? Whether names of the bidders and their quoted prices were read out at the time of opening of bids? Any deviation from specifications given in the tender notice / documents (if yee) in the tender notice / documents (if ye	1	Name of Procuring Agency:	High Court of Sindh, Karachi.	
CCTV Cameras and allied accessories on already laid analog/ fiber cables 5 buildings/ blocks of High Court of Sindh, Karachi. 4 Method of Procurement: Tender Single Stage Two Envelope Method 5 Tender Published: Jang, Dawn and Kawish (06-02-2021) 6 Total Bid documents Sold; Nil (free of cost downloading) 7 Total Bids Received: Four (04) 8 Technical Bid Opening date: (if applicable) 9 No. of Bid technically qualified (if applicable): One (01) (if applicable): Three (03) 11 Financial Bid Opening date: 24-03-2021 12 Nature of Tender: Domestic 13 Whether Eligibility Criteria was mentioned in tender documents? 14 Whether Evaluation Criteria was mentioned in tender document? 15 Whether Bid Securities were obtained from all bidders? 16 Whether the successful bid was lowest evaluated bid / best evaluated bid? 17 Whether the successful bidder was technically compliant? 18 Whether names of the bidders and their quoted prices were read out at the time of opening of bids? 19 Any complaints received (if yes, result thereof) 20 Any deviation from specifications given	2	Tender Reference No:	SHC/Budget/ Tender-2020-2021/V	
Method 5 Tender Published: Jang, Dawn and Kawish (06-02-2021) 6 Total Bid documents Sold; Nil (free of cost downloading) 7 Total Bids Received: Four (04) 8 Technical Bid Opening date: 26-02-2021 (if applicable) 9 No. of Bid technically qualified (if applicable): 10 Bid(s) disqualified Three (03) 11 Financial Bid Opening date: 24-03-2021 12 Nature of Tender: Domestic 13 Whether Eligibility Criteria was mentioned in tender documents? 14 Whether Evaluation Criteria was mentioned in tender document? 15 Whether Bid Securities were obtained from all bidders? 16 Whether the successful bid was lowest evaluated bid / best evaluated bid? 17 Whether the successful bidder was technically compliant? 18 Whether names of the bidders and their quoted prices were read out at the time of opening of bids? 19 Any complaints received (if yes, result thereof) 20 Any deviation from specifications given	3	Tender Description/Name of work/item:	CCTV Cameras and allied accessories on already laid analog/ fiber cables 5 buildings/ blocks of High Court of	
6 Total Bid documents Sold; Nil (free of cost downloading) 7 Total Bids Received: Four (04) 8 Technical Bid Opening date: (if applicable) 9 No. of Bid technically qualified (if applicable): 10 Bid(s) disqualified Three (03) 11 Financial Bid Opening date: 24-03-2021 12 Nature of Tender: Domestic 13 Whether Eligibility Criteria was mentioned in tender documents? 14 Whether Evaluation Criteria was mentioned in tender document? 15 Whether Bid Securities were obtained from all bidders? 16 Whether the successful bid was lowest evaluated bid / best evaluated bid? 17 Whether the successful bidder was technically compliant? 18 Whether names of the bidders and their quoted prices were read out at the time of opening of bids? 19 Any complaints received (if yes, result thereof) 20 Any deviation from specifications given	4	Method of Procurement:		
7 Total Bids Received: 8 Technical Bid Opening date: (if applicable) 9 No. of Bid technically qualified (if applicable): 10 Bid(s) disqualified Three (03) 11 Financial Bid Opening date: 24-03-2021 12 Nature of Tender: Domestic 13 Whether Eligibility Criteria was mentioned in tender documents? 14 Whether Evaluation Criteria was mentioned in tender document? 15 Whether Bid Securities were obtained from all bidders? 16 Whether the successful bid was lowest evaluated bid / best evaluated bid? 17 Whether the successful bidder was technically compliant? 18 Whether names of the bidders and their quoted prices were read out at the time of opening of bids? 19 Any complaints received (if yes, result thereof) 20 Any deviation from specifications given	5	Tender Published:	Jang, Dawn and Kawish (06-02-2021)	
8 Technical Bid Opening date: (if applicable) 9 No. of Bid technically qualified (if applicable): 10 Bid(s) disqualified 11 Financial Bid Opening date: 24-03-2021 12 Nature of Tender: 13 Whether Eligibility Criteria was mentioned in tender documents? 14 Whether Evaluation Criteria was mentioned in tender document? 15 Whether Bid Securities were obtained from all bidders? 16 Whether the successful bid was lowest evaluated bid / best evaluated bid? 17 Whether the successful bidder was technically compliant? 18 Whether names of the bidders and their quoted prices were read out at the time of opening of bids? 19 Any complaints received (if yes, result thereof) 20 Any deviation from specifications given	6	Total Bid documents Sold;	Nil (free of cost downloading)	
(if applicable) No. of Bid technically qualified (if applicable): 10 Bid(s) disqualified Three (03) 11 Financial Bid Opening date: 24-03-2021 12 Nature of Tender: Domestic 13 Whether Eligibility Criteria was mentioned in tender documents? 14 Whether Evaluation Criteria was mentioned in tender document? 15 Whether Bid Securities were obtained from all bidders? 16 Whether the successful bid was lowest evaluated bid / best evaluated bid? 17 Whether the successful bidder was technically compliant? 18 Whether names of the bidders and their quoted prices were read out at the time of opening of bids? 19 Any complaints received (if yes, result thereof) 20 Any deviation from specifications given No	7	Total Bids Received:	Four (04)	
(if applicable): 10 Bid(s) disqualified Three (03) 11 Financial Bid Opening date: 24-03-2021 12 Nature of Tender: Domestic 13 Whether Eligibility Criteria was mentioned in tender documents? 14 Whether Evaluation Criteria was mentioned in tender document? 15 Whether Bid Securities were obtained from all bidders? 16 Whether the successful bid was lowest evaluated bid / best evaluated bid? 17 Whether the successful bidder was technically compliant? 18 Whether names of the bidders and their quoted prices were read out at the time of opening of bids? 19 Any complaints received (if yes, result thereof) 20 Any deviation from specifications given	8		26-02-2021	
11 Financial Bid Opening date: 24-03-2021 12 Nature of Tender: Domestic 13 Whether Eligibility Criteria was mentioned in tender documents? 14 Whether Evaluation Criteria was mentioned in tender document? 15 Whether Bid Securities were obtained from all bidders? 16 Whether the successful bid was lowest evaluated bid / best evaluated bid? 17 Whether the successful bidder was technically compliant? 18 Whether names of the bidders and their quoted prices were read out at the time of opening of bids? 19 Any complaints received (if yes, result thereof) 20 Any deviation from specifications given	9		One (01)	
12 Nature of Tender: 13 Whether Eligibility Criteria was mentioned in tender documents? 14 Whether Evaluation Criteria was mentioned in tender document? 15 Whether Bid Securities were obtained from all bidders? 16 Whether the successful bid was lowest evaluated bid / best evaluated bid? 17 Whether the successful bidder was technically compliant? 18 Whether names of the bidders and their quoted prices were read out at the time of opening of bids? 19 Any complaints received (if yes, result thereof) 20 Any deviation from specifications given	10	Bid(s) disqualified	Three (03)	
Whether Eligibility Criteria was mentioned in tender documents? Whether Evaluation Criteria was mentioned in tender document? Whether Bid Securities were obtained from all bidders? Whether the successful bid was lowest evaluated bid / best evaluated bid? Whether the successful bidder was technically compliant? Whether names of the bidders and their quoted prices were read out at the time of opening of bids? Any complaints received (if yes, result thereof) Any deviation from specifications given	11	Financial Bid Opening date:	24-03-2021	
mentioned in tender documents? Whether Evaluation Criteria was mentioned in tender document? Whether Bid Securities were obtained from all bidders? Whether the successful bid was lowest evaluated bid / best evaluated bid? Whether the successful bidder was technically compliant? Whether names of the bidders and their quoted prices were read out at the time of opening of bids? May complaints received (if yes, result thereof) Any deviation from specifications given	12	Nature of Tender:	Domestic	
mentioned in tender document? Whether Bid Securities were obtained from all bidders? Whether the successful bid was lowest evaluated bid / best evaluated bid? Whether the successful bidder was technically compliant? Whether names of the bidders and their quoted prices were read out at the time of opening of bids? May complaints received (if yes, result thereof) Any deviation from specifications given	13		Yes	
from all bidders? Whether the successful bid was lowest evaluated bid / best evaluated bid? Whether the successful bidder was technically compliant? Whether names of the bidders and their quoted prices were read out at the time of opening of bids? Any complaints received (if yes, result thereof) Any deviation from specifications given	14		Yes	
evaluated bid / best evaluated bid? Whether the successful bidder was technically compliant? Whether names of the bidders and their quoted prices were read out at the time of opening of bids? Any complaints received (if yes, result thereof) Any deviation from specifications given	15		Yes	
technically compliant? 18 Whether names of the bidders and their quoted prices were read out at the time of opening of bids? 19 Any complaints received (if yes, result thereof) 20 Any deviation from specifications given No	16		Yes	
quoted prices were read out at the time of opening of bids? 19 Any complaints received (if yes, result thereof) 20 Any deviation from specifications given No	17		Yes	
19 Any complaints received (if yes, result thereof) 20 Any deviation from specifications given No	18	quoted prices were read out at the time of	Yes	
20 Any deviation from specifications given No	19		No	
give details)	20	Any deviation from specifications given in the tender notice / documents (if yes,	No	
21 Was the extension made in response time? (if yes, give reasons)	21	Was the extension made in response	No	

22	Deviation from qualification criteria?	No
	(if yes, give detailed reasons)	
23	Was it assured by the procuring agency	Yes
	that the selected firm is not black listed?	(Affidavits were obtained)

Introduction:-

Tender Notice for Supply & Installation of 296 New CCTV Cameras and allied accessories on already laid analog/ fiber cables 5 buildings/ blocks of High Court of Sindh, Karachi was published in three leading newspapers Dawn, Jang and Kawish and also uploaded on the official website of this Court on 6th February, 2021. No objections were received in writing on tender documents, eligibility criteria, specifications, terms & conditions and tender proceedings from any corner.

Technical proposals were opened in public on already fixed date and time i.e. 26th February, 2021 at 11:30 a.m. in the presence of Chairman and Members of the Committee and representatives of bidders. Following bidders participated in the subject tender as reflected in Attendance Sheet. All bids were sealed & received on time.

S.No	Name of Bidder	NTN No.	GST No.	Contact No
1	M/s. Reliable Security	06982450	1100853700364	0300-8221208
	Pvt Ltd			
2	M/s. M.A Tech	23124121	1100280045282	0321-2275782
				0317-3331704
3	M/s. M.M Corporation	23124121	1100280045282	0317-3331704
4	M/s. Apus Technology	31391486	3277876195699	0333-3142127

I.T Department of this Court provided technical assistance to the Committee for evaluation of bids on already prescribed evaluation criteria as mentioned in tender documents. Result of the said evaluation is summarized as under:-

S.No	Name of Bidder	Remarks
1	M/s. Reliable Security	Qualified
	Pvt Ltd	
2	M/s. M.A Tech	Disqualified due to technical criteria
3	M/s. M.M Corporation	Disqualified due to technical criteria
4	M/s. Apus Technology	Disqualified due to eligibility criteria.

Final Bid Evaluation Report was uploaded on the official website of this Court on 18-03-2021 and no objection was received in writing till 22-03-2021. Hence, financial proposal of only qualified bidder i.e. M/s. Reliable Security Pvt Ltd was opened on 24th March, 2021 at 11:00 a.m. which is summarized as under:-

Financial Proposal:-

S#	Make & Modal	Qty	Unit Price Rs.	Amount Rs
			(Inclusive of all taxes, installation, transportation etc.)	(Inclusive of all taxes, installation, transportation etc.)
1	Bullet Camera, 6mm Lens with 3 Amp Power Supply	190	6435	1,222,650
	(Supply & Installation)			
2	Bullet Camera, 3.6mm Lens with 3 Amp Power Supply	100	6435	643,500
	(Supply & Installation)			
	PTZ Camera	6	109688	658,128
3	(Supply & Installation)			
4	Digital Video Recorder	19	42266	803,054
	(Supply & Installation)			
5	PTZ Controller	2	28519	57,038
	(Supply & Installation)			
6	6-TB Hard Disk (Supply & Installation)	19	37294	708,586
	LED 32"	21	36562	767,802
7	(Supply & Installation)			
8	Fiber Patch Cord (5 Meter)	100	658	65,800
0	(Supply & Installation)			
9	Fiber Patch Cord (3 Meter)	50	439	21,950
	(Supply & Installation)			
10	4-Channel Video Digital Optical Converter	40	25594	1,023,760
	(Supply & Installation)			
11	HDMI Cable 20-Meters	10	8044	80,440
	(Supply & Installation)			
12	HDMI Cable 10-Meters	9	3656	32,904
	(Supply & Installation)			
	10-KVA UPS	2	277875	555,750
13	(Supply & Installation)			

14	Cabling	10,000	88	880,000
		RFT		
15	Paint of Poles	JOB	65500	65,500
16	Testing & Commissioning	JOB	282500	282,500
17	Note: Bidders are requested to visit site to inspect Installed Systems including CCTV, PA and laid network of Coaxial/Fiber cables before submission of their bids there might be some minor repairs required. Any other repair /maintenance work may be quoted here.		130500	130,500
Total Amount (inclusive of all taxes, installation, transportation etc.) in figure			Rs. 7,999,862/=	
Amount of Bid Security			Rs.400,000/=	

Ending:-

- 1. Due care has been taken to ensure accuracy & correctness in compilation of report. However, Bid Evaluation Committee reserves the right of rectifying any error and/or omission etc. at any time.
- 2. Objection(s) if any must be submitted within three (03) working days of uploading of Bid Evaluation Report along with the copies of required documents on the basis of which objections will be raised.
- 3. Objection(s) without supporting/missing documents or received after given deadline shall be rejected without consideration.
- 4. The Sindh High Court reserves the right to award or cancel the tender process, subject to rules.

Kamran Ahmed Hamidi

Jun formand

Director General (Finance & Accounts)

Chairman

Ishrat-un-Nisa

Deputy Director I.T (Member)

Member

Muhammad Shahid Hassan

Accounts Officer/ Nominee of A.G Sindh

Member

Copy for information & necessary action to

- 1. Director I.T of this Court.
- 2. Chairman and Members of Bid Evaluation Committee.
- 3. I/c: P.A to D.G (F&A) of this Court.
- 4. All concerned bidders through official website of this Court.